t)%ﬁﬁﬁ

Jus ARV FE B B

AATF (BREH) MEEH, RIE (BUFRBRES /MR RERPE) (I
FE (2020) 46 5) WHlE, AAFSN (LETHEZERE) M (RRFER
X R A mAERERANETE) RWIES), RS2 B /FEBERERKF /N
db B, MR (FBCAEF R/ BT 76 m P k)
1 BB T

L (FRFEREERIaSAERGRANMERE) , BT __#tal ; &
kA i E R IR A R AR (kA FR) , MIEAG 19 A, Bl
N__3447.00 Fin, HFEREA_7559.74 Figt, BT (DAL ;

DAk, A8 F RIS S, RAETE B IR R R T, R 7R
EE R TR N GER .
AR il A 7 PR S 5 S s i R L FEAE

W

1. ABEARRATEAT L (R TARHERL (2011) 300 532N AR, A
T AINED -

2. RTEIR /MR R FRAE M € fiE R (CL{E# k4 (2011) 300 5)
XA RS B BRI S5 WL 5 BN -

3. ML AGE . BV B B BURR E—FEEE, T L —FEREEIERIHTL
SLARNY AT ANIRAR ;

4. /LRI R AR AR R 1 R AR #R kAl (2011) 300 5 AHRALE;

5. Hin. MAHNEZEZF/NEIKFBORE, TR, RRERE LT FIF.
FRATBER R (RN B ERD

6. AHtNERESEARNESALH, BT REBEMEERFR. 52, KR
(hH N RILMEBUFRIEE) 5 E A RMEE FAHMITE.

34



U SiRiDiE
MR
e it b R R el R
TilkE# IBIF 8T o hE W
T’ #. . ik E Y 500=Y-<C20000 | 50=Y<I500 | Y<<50
oy ML T (X) 300<X< 1000 20=X<C300 | X<20
N BACAY) | 7i7C | v=40000 | 2000<y<40000 | 300 < Y < |y<300
— FAIEAY) | 7T | Y=80000 | 6000<y<go000 | 300 =Y < |y<300
' B EHiz) | it | 2280000 | 5000<2<80000 | 300 < Z<|z2<300
MAEA B | A X=200 20<X< 200 5=X<20 X<5
R
EAALY) | 75T | ¥240000 | 5000<Y<40000 | 1000 =Y < |y<1000
o Mok A Bix)y | A X=300 50X < 300 10=X<50 X<10
Bk ALY) | AT | Y=20000 | 500=Y<20000 | 100=Y< 500 | Y<100
- MAEABEX) | A X=1000 | 300="X-<<1000 20=<X-<<300 | X<20
e + B -
EONY) | A7C | Y=30000 | 3000<"Y < 30000 "@ =Y < | y<200
Mok A Fixy | A X=200 100=X-< 200 0<X<<100 | X<<20
il .
A NY) | A7t | Y=30000 | 1000=Y<30000 | 100 =< Y < |y<i00
— MALA i) | A X=1000 | 300=X<1000 20=X<300 | X<20
EAAY) | /576 | Y=30000 | 2000<Y<<30000 | 100 = Y < |y<100
pa— MAEA () | A X=300 100="X<300 10=X<<100 | X<10
HAY) | 77T | v=10000 | 2000<Y<10000 | 100 =Y < |y<i00
MAEA B (X) | A X=300 100X~ 300 10<X<100 | X<10
ool - -
Bz () | A7t | Y=10000 | 2000=<Y<10000 .iﬁ =Y < |y<i00
Mok AR | A X=2000 | 100=5X<<2000 10<X<<100 | X<10
5 Bt >
Bl [A Y F| 100 < ¥ <] 100 <Y< y<igo
SHEERRRE | AARX) | A X=300 100X~ 300 10<X<100 | X<<10
Ak Ak ALY) | A7t | Y=10000 | 1000<Y<10000 | 50 =< Y < | y<s50
Bkl Ny | A | Y =) 100 <Y <| 100=<Y<|y<100
= S Bkashandin AL b o0 S vt S (i %
S BEr= S 8iz) | Fi7C | 2210000 | 5000=Z<<10000 | 2000 < Z < | 72000
o MALA Bix) | A X=1000 | 300<=X<<1000 |100=X<300 | X< 100
Bkl AY) | 7T | Y=5000 | 1000<<Y<<5000 | 500 =< Y < |y<500
MAbA By | A X=300 100=X< 300 10=SX<<100 | X<<10
RENRERAL FRaEz) | A |2 =] 8000 < 7z <| 100 =<17<|z2<100
HibkF ik« | MARK | A X=300 100X~ 300 10<X<100 | X<10

35



